*UXSD 5RINiDG 7jj&W VHP JU $

OINURELRIRJID RJyIQD
L(HZIFND ( 3LHNDUVND
SDG]IN /

$

Gz 7\J = 7\J = 7\J 0z REHDIQH 7\J
ODIHPDINND WD 3ROVIDZ\ 3VAFKRIRJID VSRIHF]QD
5RIRZVND *  RGFLHIQIDN OXFKD % 1UyZQRZDTRQHJR URTZRIX ||| = HUJELEVNL 6]
6 6 BRELHFND ( 6
6
E= = 7\G] 0z REHDIQH 7\J
=1 HIND EEA = \EUDQH SUREIHP\ VIXN. L
0 ~ RGFLHIQIDN I\WD SURIHNIRZDQID
gy OXFKD % 3DQDN O &KCINR $
7 6 6 6
Gz 7\G]
WD
3DQDN O
6
az 7\J a:- 7\J - 7\J
6]IXND SUH]HQIDFIL ODIHPDINND OLNURELRIRJILD RJIYIQD
SRVIFND - DF]PDUHN - 5RIRZVND * -HZIFND
$ 6 6
0z 7\G] = 7\G]
= 6]IXND OLNURELRIRJL
= SUH]HQIDFIL D RJYIQD
S SRVIFND -HZIFND
-DF]PDUHN 6
s /$% 7\J

2SXEINRZDQ\ 3RUHFKQIND /RGIND  &(/&$7 7LPHIDENQJ

NRQINQXRZDQH




*UXSD SRINiDG 7jj& Vi VHP JU $
/$% 7\6] ||z 7\J
OINURELRIRJL ||2FKURQD ZiDVQRGFL
DRIYIOD  ||LQIHIHNIXDIQH!
_HZIFND ¢ ||3DSIHZVND $
3HNDWND  ||6
= 5DG]IN /
é $ = 7\G] G:- 7\G]
N 2FKIRQD &KHPLD
ZiDVQRGFL | |[RIyioD
LOIHOHNIXDIQ | |%u\V]HZVND
Hil O &aFND
3DSHHZWND |||
$ 6
6
- 7\ az 7\J JRG]LOD Gz 7\J
ODIHPDIAND ODIHPDIAND ”7H\]J"'UZRZD &KHPLD RJyIQD
7HUHSHID O 5RJIRZVND * %\VJHZVND O aaFND $
6 6 6
/$% 7\J
S &KHPLD RJyIQD
o4 %\VJHZVND O aaFND $ 6\NXiD $
< $ $
/$% 7\G]
&KHPLD RJyIQD
%\VJHZVND O aaFND $
6\NXD $
$ $
= ||: 7\J - 7\J
2 |[T\ZIHQIH FTiRZIHND &KHPLD RJyIQD
N |ODENRZVND = JHVIFT\EVAD -
L le 6

2SXEINRZDQ\

3RUHFKQIND /RGIND  &(/&$7 7LPHIDENQJ

NRQINQXRZDQH




*UXSD 5RINiDG 7jij&W VHP JU $
= 7\G] 352- 7\J
&KHPLD 3RGVIDZ\
RIYIQD TUyZQRZDTRQHJIR UR]ZRIX
/HVIFT\EWN BRELHFND (
D - $
= 6 —
% a:- 7\J
N (NRQRPLD
i -DVIEVNL 7
6
Gz 7\G]
(NRQRPID
-DVIEVNL 7
6
= 7\J az 7\J = REWHUDIQH 7\J
%H]SIHFJHEVIZR SUDF\ L [T\ZIHQH FJiRZIHND - ]
HUJRQRPLD ODENRZVND * 3RIVND T\ZQRGii IWDG\F\IQD
%RFJNRZVND . 6 &]\TRZV\D $
OaF]HZVND $ 6
6 0z 7\G]
TG T\ZIHQLH 0z 7\G]
- 1 ) FIiRZIHND $SNDGHPLFNL VDYRLU YLYUH
%H]SIHFIHE ODENRZVND -RIRG]IHIFT\N (
= ||VIZR SUDF\ L - 6
= ||HUIRQRPID 6 =
@ | [%RFINRZVN Gz 7\G]
D . $SNDGHPLFNL VDYRLU YLYUH
OaF]HZVND *Dig]ND &]DUQHFND ,
$ 6
6
- 7\J

=DU]aG]DQIH WP L
NDGUDPL

/HQG]IRQ -

6

2SXEINRZDQ\

3RUHFKQIND /RGIND  &(/&$7 7LPHIDENQJ

NRQINQXRZDQH




*UXSD 5RINiDG 7jj&W VHP JU $

SLalHN

RELHUDIOH
7\G]

3RIVND
T\ZQRGi
[IDG\F\IQD
&]\TRZVND
$

6

= RELHUDIQH 7\J

3RIVND T\ZQRGii IUDG\F\IQD
&]\TRZVND $
6

2SXEINRZDQ\

3RUHFKQIND /RGIND  &(/&$7 7LPHIDENQJ




